<1 CAREER POWER

AN 1IT/IIM ALUMNI COMPANY

S1. Ans.(a)
Sol.
Let the speed of sound =S m/s

Let the speed of man =M m/s
«—— 34 min —>

Firing man
e —— ] —
s M

345=(s+M)33
345=335+33M
5=33M
S 33

M 1
~33->330m/s
1—>10m/s

* speed of the car =10 m/s

S2. Ans.(b)
Sol.
45(t+ 10) B 60(t+5)

60 60
3t+30=4t+ 20
t=10hr
* Dista —60x15—15k
~ Distance = a0 m
S3. Ans.(b)
Sol.

We know if a cone is cut parallel to its base, then

Smaller | Larger
cone " cone
height — x - y
volume —»  x* y?
3
) y o4
AT, = —
Q ¥ 1
E:i
x 1
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- height above the base where section is made =y —x = 3 units

-4 units > 40cm

3 units = %x?}:?}ﬂ cm

S4. Ans.(d)
Sol.
B F C
A D

EF is perpendicular on side BC

- Areais trapezium

- %xmm BC) x EF

Area of ABEC = %x BC x EF

- Required ratio

%H[AD—EE]:{EF

1:-CEI:]:-r:El'-‘
2

_AD+BC
BC

2 I www.bankersadda.com

www.sscadda.com

www.careerpower.in

www. adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

S5. Ans.(b)
Sol.

Surface area of sphere = 4mr?

::»43-(?3“2 =283.54

rg=283.64x?
4 x 22

=22.5629

—=r=4.75cm

S6. Ans.(b)
Sol.

We know in a polygon

Fach interior angle = (2 =2)*180°
n

360°
n

Each exterior angle =

ATQ,

(n-2)x180° _ 360°
n n

=n—2=7x%x2

—- n=16

S7. Ans.(a)
Sol.

Volume of pyramid = = é X area of base X height
700= Zx60xh

—h=35m
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S8. Ans.(c)

Sol.
S1 tz
2
5 6
_U
S, =20 krnfhr
S9. Ans.(c)
Sol.
S, 4
Se 7
A ; B
Speed 4 - 7
Distance 4 . 7
e
3=270
1= 90

~ Total length=7x90=630m.

S$10. Ans.(b)
Sol.

Let the speed of the boat in still water = B km/hr
(B+6)x12=(B—6)x 18
~ B=30km/hr.

S11. Ans.(a)
Sol. CAREER POWER
Red : Green
9=162 /x18=126 if,n-w"\}- ssc CGL 2017
1= 18 S56- TIER-II
S Green balls =126
2 FINANCE and ECONOMICS
4—-0,0f 126 (Paper-1V)

R |
7
=18
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S12. Ans.(d)

Sol.

_ _ b*> 5% 25
Third proportion of 4,5 = — = — = T

a

Fourth proportionof 3,6, 18

bxc 6x18
a3
=36
. Rati [25 36]
v AT = |— 5

4

=25:144
S13. Ans.(b)
Sol.
When A, B and C received 25 Rs. less each then amount to be divided
=735—-25x%3
=660
Now 5x + 4x + 2x = 660
x =60

SB+C=60x%x(4+2)=360
. Real amount received by B and C together =360+ 50 =410

S14. Ans.(b)
Sol.

Hypotenuse of base

NG+ 12
J81-144=15cm

- Lateral surface area = Base Perimeter x h

=hx(a+b+c¢)

=12%(9+12+ 15) =432 cm?

— Area of base = %xgxiz =54 cm?

- Total surfacearea = L.S.A. + 2 x Base area

=432+2x54

=540 cm?
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S15. Ans.(a)
Sol.

Lateral surface area = Base perimeter xh
=150=3 xside x h
=side x h=50sqg cm 1)

Volume of prism = Area of base x height

10043 = ?x[side}z xh

= h % side® =400 cu cm ..(ii)
Dividing eqgn. (ii) by egn. (i)

Side= 209 _gem
50

S16. Ans.(c)
Sol.
Total =120€
v% = 28%
X% =10%
v% -x%
ter added = total (—)
water adde 100 —y%
120( 28-10 ) 30 ¢
B 100 -28/
S17. Ans.(a)
Sol.
Vessel 1 Vessel 2
Water : Milk Water : Milk
(3 : 4)x8 (5 : 3)x7
24 : 32 35 - 21
— T
24435 32421
59 : 53
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S18. Ans.(a)

Sol.
1st 2nd 3rd
Diameters 1 ; 3 : -4
Volume (perhour) 3 x1% : 4x3? : b5Hx4?
3 ; 36 : 80

" Time taken by 3 pipes = (3X 476)/(3+36 + 80)=12 min

S19. Ans.(a)
Sol.

3% SY%

3.6%

14/ \Uﬁ

7 : 3
| |

10 = 4000
L 1=400

144 x 100

= 3.69
4000% 1 o
. Difference between each part=(7 —3) % 400 = 1600

* Rate of interest =

S20. Ans.(a)
Sol.

F 5
Amount=P (1 + m)
6000 I 2

3800~ (1" 700)

(3 - (50

S Amount = 4800 X (f})

L | et

—x15
5

= 4800 :=<:5 ><:5 ><:5
N 47474
Amount=93/5
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S21. Ans.(c)
Sol.

D L

A B
Side of rhombus= %ﬂ = p units

Now,

OA=0C=y (let)
-~ AC = 2y units
And
OB=0D=x(let)
- BD = 2xunits
In AOAB,
LZAQB=90°

- AB?=0A*+ OB?

p? =y +x? (1)
&
2x+2y=n

Squaring both sides
=4x* + 4y*+ 8xy =n?
= 4p?+ 8xy=n? (fromeq"(i))

= 8xy=n’—4p?

- Area of rhombus

CAREER POWER

AN LIT/HIM ALLIMNE COMPANY

S

(\ SSC CGL MAINS

558 TIER-|

'ENGLISH LANGUAGE

20 FULL LENGTH MOCKS
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- %xm:x BC

= %xExey

- 2%
_ leilxy: 1, [n—4p- |
2

2\ 2 )

r

=(n*—4p?)/4 sqg.units

S22. Ans.(d)
Sol.

Volume of copper = %nr3 = %x nmx33

If the thickness of aluminium be x cm, then

= Volume of aluminium
= -n{(3+x) -3 }cu. cm
ATQ,

4 4
§1I{[3—:{]3 -3} = Emai

= (3+x)*-3%*=37

= (3+x)*=27+27

= (3+x)*=54=3x3x3x2
=3+x= fzx3
=x=3x1.259-3

x=0.7/77cm

9 I www.bankersadda.com www.sscadda.com

www.careerpower.in

www. adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

S23. Ans.(a)
Sol.

2 years = 756
3.5 years = 873

1.5years=117

tor 117 79
U5
2 yr=156 (interest)
* Principal = 756 — 156 = 600/-
~ 600Xrx1

100
r% =13%

S24. Ans.(d)
Sol.

Let CP =100
5.P=110
Now after 15% discount
5 SP=MP—15% of MP
=MP —= of MP
SP= 2 MP

20
. SP%20
S MP =

17

11020
MP =
17

MP=129.41
% Increased price=129.41-100=29.41

S25. Ans.(c)
Sol.
]:'. 2.—.:
5P a0 + 960 =1920
C.P. E"Cl'I][il + iﬁ'i 100
120 80
=800 + =1200 =2000

s Loss = 2000—-1920=80

80
* Loss% = ——— X 100 = 49
055% 5000 )o
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S26. Ans.(d)
Sol.

CP SP
[mu%-mn]'x% = (120%-100)
3100%-3100 = 3000%-2500
V100% = 600
\CP = 600/-

S27. Ans.(c)
Sol.

Passing marks=36%+ 72 =50%—124
72+124=50%—-36%

196=14%

S 1% =14

100% = 1400

~ Passing Marks =50%—124
=50x14-124

=576

S28. Ans.(d)
Sol.

A 20m 3]

18 m 20 m|

-
B 24 m C

AC= JAB* +BC?
= 18" + 24°
= 324576

=30m

- Area of AABC = % x BC x AB
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= semi-perimeter of AADC

_20+20+30
2

35m

- Area of AADC

= s(s—a)(s—b)(s—c)

= f35%(35-30)%(35-20)x(35-20)
= 35x5x15x15
=757

- Area of plot = (216 + 75v/7) m?

S29. Ans.(a)
Sol.

L

h=14cm-=r

b
i

h.=7 cm

L

Height of cone, h,=—=7cm

tal =

Volume of hemisphere = %m3

_ % x% x 14x 14 % 14 = 5749.33 cm? CAREER POWER

i) SSC CGL 2017

ssﬂ All Rounder

Volume of conical part

=Llmreh,

3 350+ TOTAL TEST
* 80+ TIER-| MOCKS

« 50+ TIER-1I MOCKS

* 200+ SECTIONAL TEST
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1.2 14%x14x7
377

1437.33cm?
- Volume of ice-cream

=5749.33+1437.33

=7186.66cm?
S30. Ans.(b)
Sol.
36
=
B 36 C

= in radius (r)=—2_ 6 6.3

25 5

—> Area of tl’iang|9=§x[side}z

=339.42 cm?
—> Area of the remaining part
=(561.18-339.42) cm?

=221.76cm?
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S31. Ans.(b)

Sol.
A
c
h D
B = C

p_ab
1 ¢
1
Pl &
1 a+b’
p° a®h?
1 1 1
P b2 al
S32. Ans.(c)
Sol.
0 El’ﬂ‘ 8 cm
A B

Diameter = AB=(20+8)cm =28 cm

Radius = 22—8 =14cm

ﬁrea=mr2=¥x14x14

=616 cm?
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S33. Ans.(b)

Sol.
Total Invalid valid
100% - 10% = 90%
h%a]m
1st 2nd
36% (90-36)%
= 5494
18%=5400
1%=300

~ No of votes that 1°* candidate got = 36 x 300 = 10,800

S34. Ans.(a)
Sol.

A 12 months

B

4

LA

000

30,000

1 Ay Xty 45000x12

P

P,

_ 45000 12
30000 X t,

t, =9 months

< After 3 months,

A
B
2
1

S35. Ans.(a)
Sol.

A, Xt, 30000xt,

B join.

Converting the given eq", of lines in the formy = mx +c where
c-intercept on y-axis m - slope

}!:-}{+2\/}'= X +2
B(O

/A ™,
(-2,0) | (2,0)
R W4
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And,

y=-x+2

- Area of AABC =%x4x2
= 4 sq. Units

S36. Ans.(b)
Sol.

7N,

A

—»Radius of circle = 8 units
In AOCD, £COD =90°
CD?*=0C*+0D?

— b*=(8)*+(8)*

= b =.J64+64=82

— In AOAB, OE L AB

ZA0B=60"°
AE=%
= cos 60" =ﬁ .
0A i) SSC CGL TIER-NI
Rep | MAINS
:>1=£:>a=4x2=8cm EEE
2 8 QUANTITATIVE APTITUDE
~a=88&b=382 20 FULL LENGTH MOCKS

Bilingual
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S37. Ans.(b)
Sol.

In AABC,
A+ ZB+ £C=180° ..(i)
SA+ §+ ZC=130° (i)

Eq" (i) & eq" (ii)

2 Bos50r
3

:>£E=5[J‘x%=?5‘

S38. Ans.(a)
Sol.

35

B

OB=21cm

OA=35cm
Z0BA=90°
~AB= [B5F-(21)

AB=28cm
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S39. Ans.(b)
Sol.

AB=12cm
3D=6cCm
ZADB=9("
:.AD=/AB*-BD?

- Jl12F—[6F =63 cm

" AG =§AD=§>¢6¢§=4¢§ cm

S40. Ans.(c)
Sol.

ZADD=90"

ZACD=£ACP=9—SE=45“ (Base AD)
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(--Angle subtended at the centre is twice to that of angle at the
circumference by the same chord)

Again,
ZBOC=60°

60"

ZBAC= > =30° = <PAC

o ZAPC=180°-45" -30¢

= 105°

S41. Ans.(a)
Sol.

Required factor = 20_08
400

S42. Ans.(a)
Sol.

Average sales
_ 340+320+400+420+440+400

6
_ 2320

—— = 386.66
&

Sales are above average in 1988, 1989, 1990 and 1991 and below average in 1986 and 1987
~ Required ratio=4:2=2:1

B A4
{‘fzﬁ‘\ Adda

S43. Ans.(a)
Sol.

4 SSCCOLTIER I
Moo 75801991 Seg Maths & English
- 4 @399/

=415 Mock Test Booklets

10 TEST BOOKLETS (PRINTED TEST)

19 I www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com



http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careeradda.co.in/

S44. Ans.(d)
Sol.

A

S45. Ans.(a)
Sol.

P

Q A R
ATQ,

PQ=PR

And, QA = AR

- ZPAQ=2PAR=90°

- ZPQA=44°

In APQA,
ZQPA=180°-90°- 44°

= 46°
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S46. Ans.(c)

Sol.
A
B D
C
The sum of opposite angles of a cyclic quadrilateral is 180°.
LA+ £C=180°
7x°+ 3y°= 180" (i)
And,
ZB+2£D=180"
5x°+ 5y°= 180"
X" +y°=36" (i)

Soving eqn (i) & (ii) we get

Ax=72=x=18

And,y =18
SXiy=1:1
S47. Ans.(b)
Sol.
B C

A = D
In AACD
£ZDAC=52°

ZACD=90° (Angle made bydiameter on semi circle)
SN /2D =(180"-52°-90°) =38"

S LZABC+H £LADC=180°

ZABC=180"-38"=142"
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S48. Ans.(b)

Sol.

A D
B =
ZACD =45°

And, ZBAC=45"
- 2[(cot?2CAD+1) cos® .2 BAC]

Iy 1 "".I
=2[(1+1)x | = |]=2
A2
S49. Ans.(c)
Sol.

Let the original number of friends be x,
According to the question,

108 108 _
x—3 x

X—=x+3
= lﬂg(x{x—zj) =3

=x(x—3)=108

=x?—3x—108=0

=x?—12x+9x—108=10

¥(x—12)4+9(x—12)=10

=x—-12)(x+9)=0

=x=12asx + —9

" The number of friends who attended the picnic
=12-3=9

S50. Ans.(b)
Sol.

Average
x3=1014x, =101+ +x5,—-101

20
i (x1+xz....x2,3) (Eﬂxlﬂl)
20 20

=y—101
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S51. Ans.(b)

Sol.
Let original number be x.
S0
2y x=2 = x50
1‘5‘3& 100
— =x-—>50
100
%%
—1 —_——=
00
X
100
x = 5000
S52. Ans.(c)
Sol.

Let the maximum marks be x.
According to the question,

40% ofx =220+ 20
240x100

40

= x = 600

S53. Ans.(d)
Sol.

(1+tanx) =

=X =

sin 60° s 30°
cosH0®  cos60°

B2 172
1/2 1,2

—> (1+tanx) =
= tanx= 43
— x=60°

S54. Ans.(c)
Sol.

_ cosech=1
IqusecB—‘l

CAREER POWER

AN IIT/IIM ALUMNI COMPANY

<5 SSC CGL TIER-II
§gg) MAINS

QUANTITATIVE APTITUDE

Rationalizing the numerator & denominator

=J[.1—sinEl][_1—sinEi_]
remeliznt) 20 FULL LENGTH MOCKS

Bilingual
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_ J1+sin8) (1+sin @)

1-sin28  cosé

= secB + tanB

S55. Ans.(a)

Sol.

Let the angles be A and B where A =B

SA+B=120° (1)

AndA — B= ExB%_ 50 i)
9 T

Adding (i) & (ii) we get

2A=140°

A=70°

S.B=50°

S56. Ans.(d)

Sol.

Sumit’'s present age = 2x yr
Prakash’s present age = 3x yr
According to the guestion,
3X—2x=6
= X=6

» Required ratio (after 6 yr)
=(2X6+6):(3X6+6)
=18:24=3:4

S57. Ans.(d)
Sol.

1 kg of each mixture is taken
A=7:2=14:4

14 4

Gold = o Copper = P
B=7:11
Gold = %; Copper = =

18
» Required ratio

(202
18 18 18 18

=21:156=7:5
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S58. Ans.(c)
Sol.

cP _a
sp

b

According to the question,

b=
b=
Gain% =

(3— 1) X 100

200% of a= 22 x a
100

2a

SP—CP
cP

X 100

CP

(5— 1) % 100

a

(2—'“"— 1) % 100

a

= 100%

S59. Ans.(b)
Sol.

B

£B=

D
,2C =
BD 1

¥

| H
w

and, —

DC 4

From AABD

sin

BAD _ BD (Sine Rule)

sifn

ABD  AD

BD AD AD

SnBAD _ % 1.2

sin

1  BD )

== Al=—x

2 sinBAD

From AADC,
sinDAC _ CD
sinACD  AD

cD AD AD

~SnDAC _ 1 3

sin
2
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ap-33, €D (i)
2 sinDAC

sfromeqg” (i) & (ii)

1 _BD 43 CD

42 sinBAD 2 sinDAC
smB-’-‘aD BD 2 1

~ SinDAC J_ f cD
1

_><__—

J6 4 ze
] sinZBAD 1

" sinzCAD 246

S60. Ans.(c)

Sol.

Cos3A =sin(A-22°)

—> sin(90° - 3A) = sin(A - 227)
—90°-3A=A-22°
—4A=112°

— A=28"

S61. Ans.(b)
Sol.

Let the CP of the article for A =100
CPforB=110

Again, CPfor A= 110 X 2

100
A=11%x9=99
Gainof A=110-99=Rs. 11
Gain% = — x 100 = 11%
100

S62. Ans.(a)

Sol.

Let the marked price = Rs. 100
After 20% discount

 SP = Rs. 80 Profit =25%

100% 5P
(100+Gainl)

— Rs. (? X 8{])
- Rs. 64

Profit after selling on marked price
=100—-64=Rs. 36
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~ Gain per cent = £a% %100
CP
=2 %100
od
= 56.25%

S63. Ans.(c)
Sol.

Let the sum lent out at 12.5% be Rs. x.
S Sum lentout at 10% = 1500 — x

Then, according to the question,
(1500-x)x10%x5  xx12.5x%4

100 100
= 50(1500—x) = 50x
= 2x = 1500

1500

=}I=T=RS?50

S64. Ans.(a)
Sol.

let the rate of interest = r% per annum.
According to the question,

4840=P (1+ ﬁ)z o (D)

r 3
And5324=P (1+—=) __..(iD)

On dividing Eq. (ii) by Eq. (i), we have
3324 _ 1 T

48240 100

3324 . 1 _r
4840 100
5324-4840
g 840 100
=—xX100=71
4840
+ = 10% perannum FICAREER POWER
S65. Ans.(c)
Sol.
Given, — = SSC CGL 2017
! ¥ 1 . 2 e A
(A +B)'s1day’swork= % ()] ssﬂ All Rounder
(B+ C)'s1day'swork= — o)
s z 350+ TOTAL TEST
(C+A)s1day'swork= g 1] « 80+ TIER-1 MOCKS

» 50+ TIER-1| MOCKS
» 200+ SECTIONAL TEST
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Adding Egs. (i), (ii) and (iii), we get

2 (A+B+C)slday'swork

1,1 1

10 12 15

_ 6+5+4 1
T s0 4 ,
S (A+B+C)slday'swork= 2 -
~ (C's1day’s work = Eq. (iv) — Eq. (i)
1 1
T8 10
_ 54 _ 1
a0 40

~ Cwill finish the whole work in 40 days.

» Cwill finish the 5/8 ™ of the work in =

S66. Ans.(b)

Sol.
cos?f —2cos* @ .

=— . —cosecif
2sin " F—smn* :
cos®6(1—2cos?h ) .

= : L —cosecd

~ sin®#(2sin%-1)
_cot?B{1-2(1-sin% )

T —cosec™d
[25in“6-1])
2n(9ei2a_ 1)
_ cnt} E-I_:Eszln ] . 1-'|—cns e
(2sin“6 -1

= cot?8 - cosec?d
= - (cosec’d - cot’)
=1

S67. Ans.(d)
Sol.
ATQ,
X = a (s5inB-cos0)
And,
y = b(sinB+cosb)

X .
— — =sinfB—cos B

=s5inG+cosb

3x40

= 25 days.
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= (sinB-cosB)? + (sinB + cosB)?
= sin? + cos?0 - 2sinB cosd +sin?0 + cos?0 + 2sinB x cosh

= 2(sin?9+ cos®B) =2
x* X

PP

S68. Ans.(c)
Sol.

)

D
AD is a building

And B & C are two cars
In AABD

tan45“=ﬁ
BD

— BD =$=15um

And,

In AADC
tanﬁﬂ“=ﬁ
DC

_AD_150
NERINE]
~.BC=BD+DC

r 1 “-I
Bc=15q 1+ |
I'-\.

5

=CD

S69. Ans.(c)
Sol.

Sum of all multiplies of 5 upto 100

=5+10+15+....+100
=5(1+2+3+....+20)

~20, (5+100)=1050
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S70. Ans.(a)
Sol.

n(AUB)
=n(A) +n(B) - n(AB)
=60+36-24=72

S71. Ans.(b)
Sol.

*» Jyothi can do %t“ of a jobin 12 days.
~ Jyothican do 1 jobin
12X _ 16 days.

As Mala is twice as efficient as lyothi,
~ Mala will finish the job in 8 days.

S72. Ans.(c)
Sol.

Let the required distance be x km.

According to the question,
., X x 24

3
=2x=2X3
Sox=3km

S73. Ans.(d)
Sol.

Both trains are moving in the same direction
. Relative speed

= (68— 50)=" = 18 km/h

~ i
=18xX—=5m/s
Total length=50+75=125m

. Required time
__ Sum of length of trains

Relative speed
125
=—= 25 s

pu ]
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S74. Ans.(d)

Sol.
323
3 104329
3 |9
62 | 143
2| 124
643 | 1929
3| 1929
646 |

)
S.+104329 =323

S75. Ans.(c)
Sol.

Cos6B =sin30

— c0s60 = cos(90° - 30°) = cosb0"®
.. 6B =602

—06=10"

S76. Ans.(c)
Sol.

5,1525,45
1359
1153
Required number = (LCM of 5, 15, 25, 45) + 4
SICM=5x3x5x3
=225
.. Required number=225+4
=229

[ B

S77. Ans.(b)
Sol.
ATQ,

(ab-bc+ca)0
—>ab+ca=bc
—>a*+bc=a*+ab+ca (Addinga® on both sides)

—>a*+bc=ala+b+c)

CAREER POWER

T/IIM ALLUMNI COMPANY

@) SSC CGL MAINS

§eg! TIER-I]

COMBO TEST SERIES

20 MOCKS : MATHS

20 MOCKS : ENGLISH
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Similarly,
b*+ac=b(a+b+<c)
And, c? +ab =c(a+h +c)

100 100 _ 100
a+bc b*-ac c*+ab

100 B 100 B 100
ala+b+c) bla+b+c) cla<+b+c)

—100 >{|'ia:;rE:—E:c+ ca
at+b+e) | abc )
(

=0

S78. Ans.(c)
Sol.

We know
Ifa?+b*+c?=ab+bc+ca
Thena=b=c

at+ec b+c a+b
+ +
b a c

_a+a _a+a a+a_.
a a a

S79. Ans.(c)
Sol.

Required ratio = 20
4 1)
= — = 4‘ H 3
3

S80. Ans.(b)
Sol.

Average marks of Hindi and English
404+70 _ 110 _ 55

2 2
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S81. Ans. (d)
Sol.

BX9X20=7x10XD,

BXQXEDZ 20% dﬂ"fS

= D, =
2 7 %10

S82. Ans.(d)
Sol.

ATQ,

3+5h=B-+5h-1

1

az

_%=14—6£—14—6£
=28

S83. Ans.(a)
Sol.
ATQ,

Sx-2=1
X

::»S,I x—i If=1
i\ X-_.

1
—=X—=
X

LAl =

Cubing both sides, we get
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S84. Ans.(b)
Sol.
3+ 16b*+ 16b-8ab-4a-12

=a+16b*-8ab-4a+ 16b-12
= (a-4b)*-4(a-4b)- 12

Let,

(a-4b)=x

SoXE-4Ax-12

=X -6X+2x-12
=X(x-6)+2(x-6)

= (x+2)(x-6)

.. the factors are

(a-4b+2)And, (a-4b-6)

S85. Ans.(a)
Sol.

1 1 N 2ax
(a* —ax+x?) a?+ax+x? (a*+a?x®+x*)

[az—kax—i—xg—az—!—ax—xz]_'_ 2ax
(@ —ax+x)(a®+ax+x?)  a*+ax?+xt
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dax

a* +a?x? +x*

f dax }X(a4+a1x1+x4
Tlat+ et 4yt \ 2ax

=2

S86. Ans.(b)
Sol.

ATQ,

Sx_25
7y 28

Let x =5k & y=4k
Now,

3x+7y =86

=3 x5k+7x4k=286
=15k +28k =86
=k=2
SoXx=10&y=8
Hence, (y- x) = -2

S87. Ans. (a)
Sol.

A B
12 days 18 days

3 units/day 2 units/day

(Let total work)

CAREER POWER

\\\\\ /IIM ALUMNI COMPANY

k) SSC CP0 2017

858/ TIER-II
TOTAL VACANCIES-2355
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We know work and wages have direct relation.
Thus A’s share = ——— X Rs. 149.25

(2 +2)
=2 x Rs.149.25

= Rs. 89.55
B's share =
=Rs. 59.70

| ka

S88. Ans.(d)
Sol.

Let B be closed after x minutes.

X Rs. 149.25

Then, part filled by (A + B) in x min + partfilled by Ain (18-x) min=1

x(i+i)+(18—xj><i= 1

24
18 —x

Tx
Or, —+
96

Or, 3x=24 .. x= 8.

So, B should be closed after 8 min.

$89. Ans.(b)
Sol.

A+B+ Ccanfillin1hr
= é of cistern.
A+B+Ccanfillin 2 hrs

2 1 .
= — = = of cistern.
[+ 3

=1o0or 7x+4(18—x) =96

Unfilled part = (1 —g)i.e. 2 isfilled in A+ Bin 8 hrs.

~ (A + B) can fill the cistern in % =12 hrs.

+Cie (A+B+C)-(A+B)canfillinlhr. = é——

 CPipe can Fill the cistern in 12 hrs.

S90. Ans. (b)
Sol.
@4 LCMof4 &6
3 hr. 2 hr.

4 km./hr. 6 km./hr.
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If difference = 1hr = 60 mins then,

distance =12 kms

If difference = 25 mins then distance

=22 %12 =5kms.
60

S91. Ans.(b)
Sol.

- 14x* + 14x° - 14x* + 14x- 1

=x° - (13 + 1)x* + (13+1)3- (13+ 1)x2 + (13+1)x-1

=x - 13 - 13+ X - 13- 2+ 13x+ x-1

Whenx=13

=13"-13%13%-13%+13%x133+13%-13x132-132+13%x13+13-1

=12

S92. Ans.(c)
Sol.

p(p*-3p+3)
=p*-3p?+3p-1+1
=(p-1)*+1

Now,

p=101

= (101-1)%+1

= (100)3+ 1 = 1000001

S93. Ans.(d)
Sol.

a=100& b =676
- ofa=J100=10
and+b =-J676 =26
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[

SEpr

. 31
=|10+26 +./26-10F

p W1
~ (v36+ vIBF

[T

; .
=(6+4) =10

S94. Ans.(c)
Sol.

Request distance = LCM of 48cm, 66cm and 96 cm
48,606,960

81116
111.2

| %] <

SLICM=6x8x11x2
= 1056

S95. Ans.(b)
Sol.

Income of 2nd year =3x =45000
x =45000+3=15000
Income of 1st year = 2x
=2 x15000=30000
Expenditure of 1st year =5y = 25000
y =25000+5=5000
Expenditure of 2nd year =9y = 45000
Total savings = Total income - total expenditure
= 45000 + 30000 - (25000+ 45000)
= 75000 -70000=5000

S96. Ans.(a)
Sol.

Share of two friends = 1 —i =§

Required ratio = 2:2-1:3
4 4
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S97. Ans.(d)

Sol.
Let the quantities of milk and water in the original mixture be 4x litres and 3x litres respectively
4x a
"3x+6 7

= 28x=24x+ 48

= 28x - 24x=48

=4qx =48

S Amt. of milk = 48 litres.

S98. Ans.(a)

Sol.

A:B:C

=3,20,000%4:5,10,000x 3 :2, 70,000 x 5
=32x%x4:51x3:27%5

=128:153:135

= Total profit=1,24,800

~ A’s share of profit
128

= X 124800

© 128 +153 +135
128

=—X 124800 =Rs. 38,400
416

S99. Ans.(d)
Sol.
Let the age of the person be x year.

Xx=3(x+3)-3(x-3)
X=3x+9-3x+9
x =18 years

S$100. Ans.(c)

Sol.

n(nz 3:: ~ o CAREER POWER
nin—3)=108
n?—3n—108=0
n?—12n+9n—-108=10 ‘3",

o 12)49 (1) $SC DELHI POLICE

n=12 Constable
5 FULL LENGTH MOCKS

Bilingual
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